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1.In the exhibit, if the incoming arrows provide three control values, how many control values are provided
to the outgoing arrow?

A. none

B. one

C. two

D. three
Answer: B

2.What symbol depicts a Call Behavior Action?

L O L

A B.

o [><]

A A
B.B
C.C
D.D
E.E
Answer: E

3.Which list contains only connectable elements?
A. behavior, connector end, and port

B. behavior, port and property

C. port and connector end

D. connector end, port and part

E. property, port, and parameter

Answer: E

4.What is true about guards on interaction operands?

A. should not refer to any dynamic variables, i.e., to attributes of the lifelines

B. must only cover one lifeline, namely the one lifeline having the first event occurrence of the interaction
operand

C. must always cover all lifelines covered by the operand

D. must cover the same lifelines on all interaction operands within one combined fragment

Answer: B
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5.What indicates an artifact instance in UML notation? (Choose two.)
A. single sheet icon with a folder-over corner

B. syntactically well-formed file name

C. class box with two smaller rectangles on its left side

D. memo box

E. <<artifact>> keyword

Answer: AE
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